[image: image1.png]Complete the timing diagram for the following circuit. Note that the Ck inputs on
the two D flip-flops are different.
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答：
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[image: image3.png]2. Realize a 4-to-1 MUX using four three-state buffers and a decoder.




答：
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[image: image5.png]3. Consider the following logic function
| F(A4,B,C,D) =xm(0,2,5,6,7,8,9,12,13,15)

(a) Find two different minimum AND-OR circuits which implement F. Identify
two hazards in each circuit. Then find an AND-OR circuit for F which has no
hazards.

(b) The minimum OR-AND circuit for F has one hazard. Identify it and, then
find an OR-AND circuit for F which has no hazards.




答：
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Either way, without hazard:

F'=A+B+D)YA+B'+C+D)d'+C'"+D)
B+C'+DYUA'+B+C)




[image: image7.png]4. Design a minimum three-level NOR-gate circuit to realize
f'=a'b'+abd + acd




答：
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